Einstein's Riddle bral.l‘\
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Supposedly, Einstein created this riddle in the 20th century and said that 98% of the world's population could not solve it. Can
you find the solution to "Einstein's Riddle"?

Color: blue, green, red, white, yellow Cigarette: Blends, Blue Master, Dunhill, Pall Mall, Prince
Nationality: Brit, Dane, German, Norwegian, Swede Pet: birds, cats, dogs, horses, fish

Drink: beer, coffee, milk, tea, water
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The Brit lives in the Red house. The Norwegian lives in the first house.
The Swede keeps Dogs as pets. The man who smokes Blends lives next to the one who
_ keeps Cats.
The Dane drinks Tea.

The man who keeps Horses lives next to the man who

The Green house is exactly to the left of the White smokes Dunhill.

house.
The man who smokes Blue Master drinks Beer.
The owner of the Green house drinks Coffee.
The German smokes Prince.
The person who smokes Pall Mall rears Birds.
The Norwegian lives next to the Blue house.
The owner of the Yellow house smokes Dunhill.
The man who smokes Blends has a neighbour who

The man living in the centre house drinks Milk. drinks Water
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Kart Racing
Logic Grid Puzzle

Use the clues to solve this problem and to discover the finishing positions of each pilot.

1. The pilot who finished in first is older than Sam.
2. Ronald is 13 years old.

3. Sam finished in second place.

4. Alan is one year younger than the pilot who finished in

third.
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